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1. Determine the 4 parameters in the following circuit. (10%)
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2. In the following circuit, let y,, =y, =0, y,, =2mS, y,, =10mS. Find V,/V,. (10%)
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3. For the linear system to be considered, when the input voltage is V;(s)=2V and

2s +14

V,(s)=-5————— V. Please find the output voltage v, (¥) when the input voltage is
§°+6s+8

v,(t) = 4etu(@) V. (10%)

4. The voltage and the current at the terminals of a circuit are
v(f)=2+cosxt+sinzt+cos3nt V
i(t)=1+sinz?+cos(3rt~60°) A

Find the average power absorbed by the circuit. (10%)

5. Find the steady-state response, v,(?), of the following RC circuit. The input voltage v, (%)
is the square wave shown in the following figure with 7 =7 seconds. In this case, we will
represent this square wave by the first four terms of its Fourier series. (10%)
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6. Find v,(¢) inthe following circuit if w(0)=2V and i(0)=1A. (10%)
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7. The make-before-break switch in the following circuit has been in position ‘a’ for a long
time. At ¢=0, it moves instantaneously to ‘b’. Find i (#) for £>0. (10%)

8. A professional center is supplied by a balanced three-phase source. The center has four
balanced three-phase loads as follows:

Load 1: 150k VA at 0.8pf leading

Load 2: 100kW at unity pf

Load 3: 200k VA at 0.6pf lagging

Load 4: 80kW at 95k VAR (inductive)
If the line impedance is 0.02+ j0.05 Q per phase and the line voltage at the loads is
480V, find the magnitude of the line voltage at the source. (10%)
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9. Determine the Norton equivalent at terminals a-b in the following circuit. (10%)
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10. For the following circuit to be considered, find /;, using mesh analysis. (10%)
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